ERHIYRESHENEELTRIIR TS,
EHHUTEIRE/OESIHNDLENN, REFHETEREF/OIFIAEL.
SREGEHEICONT? (FROBHLETTRAEGEREMESBOEHIHI-TELY

BERERICBITH2EHHEH(H14~H18)

MERER

H14 H15 H16 H17 H18 =1
BHEIE X BEE 10 8 9 9 9 45 74%
BENE x BEsE 5 1 1 4 2 13
BHEEXHTE 0 26%
ZDfth 1 1 1 3
a&t 16 9 10 14 12 61
H13~16 SEZHHFE 784/fEEKm
SERER

H14 H15 H16 H17 H18 =11
HEE x BEE 11 13 6 13 9 52 79%
BE)E x BEcE 1 1 4 1
BEE x HITH 2 1 1 4 21%
ZDfth 1 1 1 3
a&t 12 16 8 18 12 66
EEEHE -
NERRER

H14 H15 H16 H17 H18 &t
HEE x BEE 11 2 6 7 4 30 57%
BE)E x BEsE 5 5 3 3 4 20
BEIE X H1TE 1 1 2 43%
ZDith 1 1
&5t 16 7 10 11 9 53

HI1~145EGFEHE 13004 /{EEKm

XEPERICEEY _&HE. REZET

KIGEHE/Eekm]=E/MREEHHY
# (AFERDT) 100,000,000 (ARE

2(E RBEUYRI*365%x0.1(km))




